

,
()
[1] [2] . [4] -
[4] -
-
-
-
.

1. $2^{2012} > 15^{503} ?$
.
 $2^{2012} = 2^{4 \cdot 503} = (2^4)^{503} = 16^{503} > 15^{503} .$

2. $2^{7n+3} > 5^{3n+1}, \quad n \in \mathbb{N} .$
.
 $2^7 = 128 > 125 = 5^3$
 $(2^7)^n > (5^3)^n, \dots 2^{7n} > 5^{3n} .$
.
 $2^3 > 5,$
 $2^{7n+3} = 2^{7n} \cdot 2^3 > 5^{3n} \cdot 5 = 5^{3n+1} .$

3. $4^{2012} + 9^{2012} > 2^{2013} \cdot 3^{2012} ?$
.
 $(3^{2012} - 2^{2012})^2 > 0$
 $(3^{2012})^2 - 2 \cdot 3^{2012} \cdot 2^{2012} + (2^{2012})^2 > 0,$
 $(3^2)^{2012} - 3^{2012} \cdot 2^{2013} + (2^2)^{2012} > 0,$
 $4^{2012} + 9^{2012} > 3^{2012} \cdot 2^{2013} .$

4. $2^{2015} + 3^{2015} < 4^{2015} .$
.

$$2^{2015} + 3^{2015} < 2 \cdot 3^{2015},$$

$$2 \cdot 3^{2015} < 4^{2015}.$$

$$2 = \frac{54}{27} < \frac{64}{27} = \left(\frac{4}{3}\right)^3 < \left(\frac{4}{3}\right)^3 \left(\frac{4}{3}\right)^{2012} = \frac{4^{2015}}{3^{2015}}.$$

5.

$$3^{2016} + 4^{2016} < 6^{2016}.$$

$$3^{2016} + 4^{2016} < 2 \cdot 4^{2016},$$

$$2 \cdot 4^{2016} < 6^{2016}, \quad 2 \cdot 2^{2016} < 3^{2016}, \quad \frac{2}{3} < 1$$

$$\frac{8}{9} = \frac{2^3}{3^2} < 1 \quad \left(\frac{2}{4}\right)^{2014} \frac{2^3}{3^2} < 1, \quad 2 \cdot 2^{2016} < 3^{2016}.$$

6.

$$a = 22^{22}, B = 222^2, d = 22^{2^2}, e = 2^{2^{22}}, f = 2^{222} \quad g = 2^{2^{2^2}}.$$

.

$$22^2 = 484 < 1024 = 2^{10} < 2^{22}.$$

$$222 < 256 = 2^8,$$

$$222^2 < (2^8)^2 = 2^{16} = 2^{2^{2^2}}.$$

,

$$2^{2^{2^2}} = 2^{16} = 16^4 < 22^4 = 22^{2^2} < 22^{22}.$$

,

$$22^{22} < 32^{22} = (2^5)^{22} = 2^{110} < 2^{222}.$$

,

$$2^{222} < 2^{484} = 2^{2^{2^2}} < 2^{2^{2^2}}.$$

,

$$b < g < d < a < f < c < e.$$

7.

$$\frac{5^{2007} + 1}{5^{2008} + 1} \quad \frac{5^{2008} + 1}{5^{2009} + 1}.$$

. :

$$\begin{aligned} \frac{5^{2007}+1}{5^{2008}+1} - \frac{5^{2008}+1}{5^{2009}+1} &= \frac{(5^{2007}+1)(5^{2009}+1)-(5^{2008}+1)^2}{(5^{2008}+1)(5^{2009}+1)} \\ &= \frac{5^{4016}+5^{2007}+5^{2009}+1-5^{4016}-2\cdot 5^{2008}-1}{(5^{2008}+1)(5^{2009}+1)} \\ &= \frac{5^{2007}+5^{2009}-2\cdot 5^{2008}}{(5^{2008}+1)(5^{2009}+1)} \\ &= \frac{5^{2007}(1+5^2-2\cdot 5)}{(5^{2008}+1)(5^{2009}+1)} \\ &= \frac{16\cdot 5^{2007}}{(5^{2008}+1)(5^{2009}+1)} > 0, \end{aligned}$$

$$\frac{5^{2007}+1}{5^{2008}+1} > \frac{5^{2008}+1}{5^{2009}+1}.$$

8.

$$\frac{1}{1\cdot 3} + \frac{1}{3\cdot 5} + \frac{1}{5\cdot 7} + \dots + \frac{1}{2005\cdot 2007} < \frac{1}{2}.$$

$$\frac{1}{1\cdot 3} = \frac{1}{1\cdot 3} \cdot \frac{2}{2} = \frac{2}{1\cdot 3} \cdot \frac{1}{2} = \frac{3-1}{1\cdot 3} \cdot \frac{1}{2} = \left(\frac{1}{1} - \frac{1}{3}\right) \cdot \frac{1}{2},$$

$$\frac{1}{3\cdot 5} = \frac{1}{3\cdot 5} \cdot \frac{2}{2} = \frac{2}{3\cdot 5} \cdot \frac{1}{2} = \frac{5-3}{3\cdot 5} \cdot \frac{1}{2} = \left(\frac{1}{3} - \frac{1}{5}\right) \cdot \frac{1}{2},$$

.....

$$\frac{1}{2005\cdot 2007} = \frac{1}{2005\cdot 2007} \cdot \frac{2}{2} = \frac{1}{2005\cdot 2007} \cdot \frac{1}{2} = \frac{2007-2005}{2005\cdot 2007} \cdot \frac{1}{2} = \left(\frac{1}{2005} - \frac{1}{2007}\right) \cdot \frac{1}{2}$$

$$\begin{aligned} \frac{1}{1\cdot 3} + \frac{1}{3\cdot 5} + \frac{1}{5\cdot 7} + \dots + \frac{1}{2005\cdot 2007} &= \left(\frac{1}{1} - \frac{1}{3}\right) \cdot \frac{1}{2} + \left(\frac{1}{3} - \frac{1}{5}\right) \cdot \frac{1}{2} + \dots + \left(\frac{1}{2005} - \frac{1}{2007}\right) \cdot \frac{1}{2} \\ &= \left(\frac{1}{1} - \frac{1}{3} + \frac{1}{3} - \frac{1}{5} + \dots + \frac{1}{2005} - \frac{1}{2007}\right) \cdot \frac{1}{2} \\ &= \left(1 - \frac{1}{2007}\right) \cdot \frac{1}{2} = \frac{1}{2} - \frac{1}{2007} \cdot \frac{1}{2} < \frac{1}{2}. \end{aligned}$$

9.

$$\frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \frac{1}{32} < 1.$$

:

$$\begin{aligned} \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \frac{1}{32} &= \frac{16}{2\cdot 16} + \frac{8}{4\cdot 8} + \frac{4}{8\cdot 4} + \frac{2}{16\cdot 2} + \frac{1}{32} \\ &= \frac{16}{32} + \frac{8}{32} + \frac{4}{32} + \frac{2}{32} + \frac{1}{32} \\ &= \frac{16+8+4+2+1}{32} = \frac{31}{32} < 1. \end{aligned}$$

10.

$$1 < \frac{1}{5} + \frac{1}{6} + \frac{1}{7} + \dots + \frac{1}{17} < 2.$$

• 1. -
:

$$\frac{1}{5} > \frac{1}{10}, \frac{1}{6} > \frac{1}{10}, \frac{1}{7} > \frac{1}{10}, \frac{1}{8} > \frac{1}{10}, \frac{1}{9} > \frac{1}{10}, \frac{1}{10} = \frac{1}{10},$$

$$\frac{1}{11} > \frac{1}{17}, \frac{1}{12} > \frac{1}{17}, \frac{1}{13} > \frac{1}{17}, \frac{1}{14} > \frac{1}{17}, \frac{1}{15} > \frac{1}{17}, \frac{1}{16} > \frac{1}{17}, \frac{1}{17} = \frac{1}{17},$$

$$\frac{1}{5} + \frac{1}{6} + \frac{1}{7} + \dots + \frac{1}{17} > 6 \cdot \frac{1}{10} + 7 \cdot \frac{1}{17} = \frac{3}{5} + \frac{7}{17} = \frac{51+35}{85} = \frac{86}{85} > 1.$$

$$\frac{1}{5} = \frac{1}{5}, \frac{1}{6} < \frac{1}{5}, \frac{1}{7} < \frac{1}{5}, \frac{1}{8} < \frac{1}{5}, \frac{1}{9} < \frac{1}{5},$$

$$\frac{1}{10} = \frac{1}{10}, \frac{1}{11} < \frac{1}{10}, \frac{1}{12} < \frac{1}{10}, \frac{1}{13} < \frac{1}{10}, \frac{1}{14} < \frac{1}{10}, \frac{1}{15} < \frac{1}{10}, \frac{1}{16} < \frac{1}{10}, \frac{1}{17} < \frac{1}{10},$$

$$\frac{1}{5} + \frac{1}{6} + \frac{1}{7} + \dots + \frac{1}{17} < 5 \cdot \frac{1}{5} + 8 \cdot \frac{1}{10} = 1 + \frac{4}{5} = \frac{9}{5} < 2.$$

11.

$$\frac{1}{51} + \frac{1}{52} + \frac{1}{53} + \dots + \frac{1}{200} > 1.$$

• :

$$\frac{1}{51} + \frac{1}{52} + \frac{1}{53} + \dots + \frac{1}{100} > \frac{1}{100} + \frac{1}{100} + \frac{1}{100} + \dots + \frac{1}{100} = 50 \cdot \frac{1}{100} = \frac{1}{2},$$

$$\frac{1}{101} + \frac{1}{102} + \frac{1}{103} + \dots + \frac{1}{200} > \frac{1}{200} + \frac{1}{200} + \frac{1}{200} + \dots + \frac{1}{200} = 100 \cdot \frac{1}{200} = \frac{1}{2},$$

$$\begin{aligned} \frac{1}{51} + \frac{1}{52} + \frac{1}{53} + \dots + \frac{1}{200} &= \left(\frac{1}{51} + \frac{1}{52} + \dots + \frac{1}{100} \right) + \left(\frac{1}{101} + \frac{1}{102} + \dots + \frac{1}{200} \right) \\ &> \frac{1}{2} + \frac{1}{2} = 1. \end{aligned}$$

12.

$$\frac{(2^3-1)(3^3-1)(4^3-1)\dots(2021^3-1)}{(2^3+1)(3^3+1)(4^3+1)\dots(2021^3+1)} > \frac{674}{1011}.$$

•

$$x^3 \pm 1 = (x \pm 1)(x^2 \mp x + 1)$$

:

$$\frac{(2^3-1)(3^3-1)(4^3-1)\dots(2021^3-1)}{(2^3+1)(3^3+1)(4^3+1)\dots(2021^3+1)} = \frac{1 \cdot 2 \cdot 3 \dots 2020}{3 \cdot 4 \cdot 5 \dots 2022} \cdot \frac{(2^2+2+1)(3^2+3+1)\dots(2021^2+2021+1)}{(2^2-2+1)(3^2-3+1)\dots(2021^2-2021+1)} \quad (1)$$

(1), , :

$$\frac{1 \cdot 2 \cdot 3 \dots 2020}{3 \cdot 4 \cdot 5 \dots 2022} = \frac{2}{2021 \cdot 2022} = \frac{1}{2021 \cdot 1011} \cdot \quad (1), -$$

:

$$x^2 + x + 1 = (x + 1)^2 - (x + 1) + 1.$$

:

$$\begin{aligned} \frac{1 \cdot 2 \cdot 3 \dots 2020}{3 \cdot 4 \cdot 5 \dots 2022} \cdot \frac{(2^2+2+1)(3^2+3+1)\dots(2021^2+2021+1)}{(2^2-2+1)(3^2-3+1)\dots(2021^2-2021+1)} &= \frac{2021^2+2021+1}{2^2-2+1} \\ &= \frac{2021 \cdot 2022 + 1}{3} \\ &> \frac{2021 \cdot 2022}{3} = 2021 \cdot 674 \end{aligned}$$

,

$$\frac{(2^3-1)(3^3-1)(4^3-1)\dots(2021^3-1)}{(2^3+1)(3^3+1)(4^3+1)\dots(2021^3+1)} > \frac{1}{2021 \cdot 1011} \cdot 2021 \cdot 674 = \frac{674}{1011}.$$

13.

$$\sqrt{\frac{2}{2022}} < \frac{3}{4} \cdot \frac{5}{6} \cdot \frac{7}{8} \cdot \dots \cdot \frac{2021}{2022} < \sqrt{\frac{3}{2023}}.$$

.

$$\begin{aligned} \frac{3^2}{4^2} \cdot \frac{5^2}{6^2} \cdot \frac{7^2}{8^2} \cdot \dots \cdot \frac{2021^2}{2022^2} &> \frac{3^2-1}{4^2} \cdot \frac{5^2-1}{6^2} \cdot \frac{7^2-1}{8^2} \cdot \dots \cdot \frac{2021^2-1}{2022^2} \\ &= \frac{2 \cdot 4}{4^2} \cdot \frac{4 \cdot 6}{6^2} \cdot \frac{6 \cdot 8}{8^2} \cdot \dots \cdot \frac{2020 \cdot 2022}{2022^2} = \frac{2}{2022} \end{aligned}$$

$$\begin{aligned} \frac{3^2}{4^2} \cdot \frac{5^2}{6^2} \cdot \frac{7^2}{8^2} \cdot \dots \cdot \frac{2021^2}{2022^2} &< \frac{3^2}{4^2-1} \cdot \frac{5^2}{6^2-1} \cdot \frac{7^2}{8^2-1} \cdot \dots \cdot \frac{2021^2}{2022^2-1} \\ &= \frac{3^2}{3 \cdot 5} \cdot \frac{5^2}{5 \cdot 7} \cdot \frac{7^2}{7 \cdot 9} \cdot \dots \cdot \frac{2021^2}{2021 \cdot 2023} = \frac{3}{2023}. \end{aligned}$$

14.

$$\sqrt{6 + \sqrt{6 + \sqrt{6 + \sqrt{6}}}} + \sqrt{20 + \sqrt{20 + \sqrt{20}}} < 8.$$

.

$$\sqrt{6} < 3$$

$$\sqrt{6 + \sqrt{6 + \sqrt{6 + \sqrt{6}}}} < \sqrt{6 + \sqrt{6 + \sqrt{6 + 3}}} = 3,$$

$$\sqrt{20} < 5$$

$$\sqrt{20 + \sqrt{20 + \sqrt{20}}} < \sqrt{20 + \sqrt{20 + 5}} = 5,$$

$$\sqrt{6 + \sqrt{6 + \sqrt{6 + \sqrt{6}}}} + \sqrt{20 + \sqrt{20 + \sqrt{20}}} < 3 + 5 = 8.$$

15.

$$\sqrt{12 + \sqrt{12 + \sqrt{12}}} + \sqrt{30 + \sqrt{30 + \sqrt{30}}} < 10.$$

$$\cdot \quad \sqrt{12} < 4$$

$$\sqrt{12 + \sqrt{12 + \sqrt{12}}} < \sqrt{12 + \sqrt{12 + 4}} = 4,$$

$$\sqrt{30} < 6$$

$$\sqrt{30 + \sqrt{30 + \sqrt{30}}} < \sqrt{30 + \sqrt{30 + 6}} = 6.$$

,

$$\sqrt{12 + \sqrt{12 + \sqrt{12}}} + \sqrt{30 + \sqrt{30 + \sqrt{30}}} < 4 + 6 = 10.$$

16.

$$\sqrt{13 - \sqrt{13 + \sqrt{13}}} < 3.$$

$$\cdot \quad \sqrt{9} < \sqrt{13} < \sqrt{16}, \quad 3 < \sqrt{13} < 4.$$

$$13 + 3 < 13 + \sqrt{13} < 13 + 4, \quad \dots \quad 16 < 13 + \sqrt{13} < 17. \quad ,$$

$$4 < \sqrt{13 + \sqrt{13}} < 5,$$

$$8 = 13 - 5 < 13 - \sqrt{13 + \sqrt{13}} < 13 - 4 = 9,$$

...

$$\sqrt{8} < \sqrt{13 - \sqrt{13 + \sqrt{13}}} < \sqrt{9} = 3,$$

.

17.

$$\sqrt{1 + \sqrt{\sqrt{5 + \sqrt{10 + \sqrt{17}}}}} > 2.$$

.

$$\sqrt{5} > \sqrt{4} = 2, \sqrt{10} > \sqrt{9} = 3, \sqrt{17} > \sqrt{16} = 4,$$

$$\sqrt{1+\sqrt{\sqrt{5+\sqrt{10+\sqrt{17}}}}} > \sqrt{1+\sqrt{2+3+4}} = \sqrt{1+\sqrt{9}} = \sqrt{1+3} = 2.$$

18. $\sqrt{5+\sqrt{8}} \quad \sqrt{6+\sqrt{7}}.$
 $\cdot \quad x=\sqrt{5+\sqrt{8}} \quad y=\sqrt{6+\sqrt{7}}. \quad :$
 $x^2 = (\sqrt{5+\sqrt{8}})^2 = \sqrt{5}^2 + 2\sqrt{5}\cdot\sqrt{8} + \sqrt{8}^2 = 13 + 2\sqrt{40},$
 $y^2 = (\sqrt{6+\sqrt{7}})^2 = \sqrt{6}^2 + 2\sqrt{6}\cdot\sqrt{7} + \sqrt{7}^2 = 13 + 2\sqrt{42}.$
 $13 + 2\sqrt{42} > 13 + 2\sqrt{40} \quad x^2 > y^2, \quad x, y > 0$
 $x > y. \quad , \sqrt{5+\sqrt{8}} < \sqrt{6+\sqrt{7}}.$

19. $|2x-8| + |3-2x| \geq 5 \quad x.$
 $\cdot \quad |a+b| \leq |a| + |b|$
 $a \quad b, \quad |-a| = |a|,$
 $5 = |3-8| = |2x-8+3-2x| \leq |2x-8| + |3-2x|.$

20. $x+y+z=5,$
 $|x-5| + |y+3| + |z-9| \geq 6.$
 $\cdot \quad a, b, c$
 $|a+b+c| \leq |a| + |b| + |c|,$
 $6 = |5-11| = |x+y+z-11|$
 $= |x-5+y+3+z-9|$
 $\leq |x-5| + |y+3| + |z-9|,$

21. $a+b > 0, \quad a^3 + b^3 > a^2b + ab^2.$
 $\cdot \quad a+b > 0,$
 $(a+b)(a-b)^2 > 0,$
 $(a+b)(a-b)(a-b) > 0,$
 $(a^2 - b^2)(a-b) > 0,$
 $a^3 + b^3 - a^2b - ab^2 > 0,$
 $a^3 + b^3 > a^2b + ab^2,$

22.

$$a$$

$$3(1+a^2+a^4) \geq (1+a+a^2)^2.$$

$$3(1+a^2+a^4) \geq (1+a+a^2)^2,$$

$$3+3a^2+3a^4 \geq 1+a^2+a^4+2a+2a^2+2a^3,$$

$$2a^4-2a^3-2a+2 \geq 0,$$

$$2a^3(a-1)-2(a-1) \geq 0,$$

$$2(a-1)(a^3-1) \geq 0,$$

$$(a-1)(a-1)(2a^2+2a+2) \geq 0,$$

$$(a-1)^2(a^2+1+(a+1)^2) \geq 0.$$

23.

$$x$$

$$x^{10} - 2x^3 + 4x^2 - 8x + 16 > 0.$$

$$x < 0, \quad x^{10}, -2x^3, 4x^2, -8x, 16,$$

$$x^{10} - 2x^3 + 4x^2 - 8x + 16$$

$$0 \leq x < 2, \quad 2-x > 0,$$

$$x^{10} - 2x^3 + 4x^2 - 8x + 16 = x^{10} + 2x^2(2-x) + 8(2-x) > 0.$$

$$x \geq 2, \quad x-2 > 0,$$

$$x^{10} - 2x^3 + 4x^2 - 8x + 16 > x^4 - 2x^3 + 4x^2 - 8x + 16$$

$$= x^3(x-2) + 4x(x-2) + 16 > 0,$$

$$x^3(x-2), 4x(x-2), 16$$

24.

$$x$$

$$(x^2+1)^8 - (x^2+1)^5 \geq \frac{1}{x^2+1} - \frac{1}{(x^2+1)^4}.$$

$$y = x^2 + 1. \quad x^2 \geq 0,$$

$$x \quad y \geq 1, \quad y > 0,$$

$$\begin{aligned}
 y^8 - y^5 &\geq \frac{1}{y} - \frac{1}{y^4}, \\
 y^{12} - y^9 &\geq y^3 - 1, \\
 y^9(y^3 - 1) - (y^3 - 1) &\geq 0, \\
 (y^3 - 1)(y^9 - 1) &\geq 0.
 \end{aligned}$$

, $y \geq 1$ $y^3 \geq 1$ $y^9 \geq 1$, $y^3 - 1 \geq 0$ $y^9 - 1 \geq 0$,
 , . . .

25. $x^2 - x + 1 > 0$ x .

. $(x - \frac{1}{2})^2 \geq 0$

$$x^2 - x + 1 = x^2 - 2 \cdot x \cdot \frac{1}{2} + (\frac{1}{2})^2 + \frac{3}{4} = (x - \frac{1}{2})^2 + \frac{3}{4} \geq \frac{3}{4} > 0.$$

. $x^2 \geq 0$ $(x - 1)^2 \geq 0$, $x^2 + 1 > 0$

$$x^2 - 2x + 1 \geq 0.$$

, -

$$2x^2 - 2x + 2 > 0.$$

2, -

$$x^2 - x + 1 > 0.$$

26. x y , $x^4 + y^4 \geq x^3y + xy^3$. !

.

$$\begin{aligned}
 x^4 + y^4 - x^3y - xy^3 &\geq 0, \\
 x^3(x - y) - y^3(x - y) &\geq 0, \\
 (x - y)(x^3 - y^3) &\geq 0, \\
 (x - y)^2(x^2 + xy + y^2) &\geq 0 \tag{1}
 \end{aligned}$$

, x y $(x - y)^2 \geq 0$

$$\begin{aligned}
 x^2 + xy + y^2 &= x^2 + 2x \cdot \frac{y}{2} + \frac{y^2}{4} + \frac{3}{4}y^2 \\
 &= (x + \frac{y}{2})^2 + \frac{3}{4}y^2 \geq 0.
 \end{aligned}$$

,

(1), .

27.

 x, y и z важ

:

$$3(x^2 + y^2 + z^2) \geq (x + y + z)^2.$$

.

$$\begin{aligned} 3(x^2 + y^2 + z^2) - (x + y + z)^2 &= 2x^2 + 2y^2 + 2z^2 - 2xy - 2yz - 2xz \\ &= x^2 - 2xy + y^2 + y^2 - 2yz + z^2 + z^2 - 2xz + x^2 \\ &= (x - y)^2 + (y - z)^2 + (z - x)^2 \geq 0, \end{aligned}$$

..

$$3(x^2 + y^2 + z^2) \geq (x + y + z)^2.$$

,

$$x = y = z.$$

28.

 a, b, c

$$\frac{a^3}{b^2} + \frac{b^3}{c^2} + \frac{c^3}{a^2} \geq a + b + c$$

$$a = b = c.$$

$$x, y \in \mathbb{R}^+ \quad \frac{x^3}{y^2} \geq 3x - 2y.$$

$$x = y.$$

$$x^3 - y^3 = (x - y)(x^2 + xy + y^2),$$

:

$$(x - y)(x^2 + xy + y^2) \geq 3y^2(x - y). \quad (1)$$

:

$$1) \quad x > y, \quad (1)$$

$$x^2 + xy + y^2 \geq 3y^2,$$

$$2) \quad x = y, \quad (1)$$

$$3) \quad x < y, \quad (1)$$

$$x^2 + xy + y^2 \leq 3y^2,$$

$$\frac{a^3}{b^2} + \frac{b^3}{c^2} + \frac{c^3}{a^2} \geq 3a - 2b + 3b - 2c + 3c - 2a = a + b + c.$$

, $a = b = c$.

29.

a, b, c, d

$$a - b^2 > \frac{1}{4}, b - c^2 > \frac{1}{4}, c - d^2 > \frac{1}{4}, d - a^2 > \frac{1}{4}. \quad (1)$$

(1).

$$a + b + c + d - a^2 - b^2 - c^2 - d^2 > 1,$$

$$(a - \frac{1}{2})^2 + (b - \frac{1}{2})^2 + (c - \frac{1}{2})^2 + (d - \frac{1}{2})^2 < 1,$$

30.

a, b, c

$$a(1 - b) > \frac{1}{4}, b(1 - c) > \frac{1}{4}, c(1 - a) > \frac{1}{4}. \quad (1)$$

$$x \quad (x - \frac{1}{2})^2 \geq 0,$$

$$x^2 - x + \frac{1}{4} \geq 0,$$

$$x(1 - x) \leq \frac{1}{4} \quad (2)$$

x .

a, b, c

$$(1). \quad 1 - b > 0, 1 - c > 0$$

$$1 - a > 0,$$

(1),

(2)

$$\frac{1}{64} = \frac{1}{4} \cdot \frac{1}{4} \cdot \frac{1}{4} < a(1 - b)b(1 - c)c(1 - a)$$

$$= a(1 - a) \cdot b(1 - b) \cdot c(1 - c)$$

$$\leq \frac{1}{4} \cdot \frac{1}{4} \cdot \frac{1}{4} = \frac{1}{64},$$

31.

x, y, z

$$x + y + z = 6,$$

$$xy + yz + zx \leq 12.$$

a, b

$$ab \leq \frac{a^2 + b^2}{2},$$

$$\begin{aligned}
36 &= x^2 + y^2 + z^2 + 2xy + 2yz + 2zx \\
&= \frac{x^2+y^2}{2} + \frac{y^2+z^2}{2} + \frac{z^2+x^2}{2} + 2xy + 2yz + 2zx \\
&\geq xy + yz + zx + 2xy + 2yz + 2zx \\
&= 3(xy + yz + zx), \\
xy + yz + zx &\leq 12. \quad , \\
x = y = z &= 2.
\end{aligned}$$

32. a, b, c $a^2 + b^2 + c^2 = \frac{5}{3}$.

$$\frac{1}{a} + \frac{1}{b} - \frac{1}{c} \leq \frac{1}{abc}. \quad (1)$$

$$(a+b-c)^2 \geq 0$$

$$a^2 + b^2 + c^2 + 2(ab - bc - ca) \geq 0,$$

$$ac + bc - ba \leq \frac{1}{2}(a^2 + b^2 + c^2) = \frac{1}{2} \cdot \frac{5}{3} = \frac{5}{6} < 1.$$

$$abc, \quad -$$

(1).

33. $a - b \geq 12, \quad a, b \in \mathbb{R}, \quad a^4 + b^4 > 2006.$

$$a^2 + b^2 \geq -2ab,$$

$$2a^2 + 2b^2 \geq a^2 - 2ab + b^2 = (a - b)^2 \geq 144, \quad \dots \quad a^2 + b^2 \geq 72.$$

$$, \quad a^4 + b^4 \geq 2a^2b^2,$$

$$2a^4 + 2b^4 \geq a^4 + 2a^2b^2 + b^4 = (a^2 + b^2)^2 \geq 72^2,$$

...

$$a^4 + b^4 \geq 2592 > 2006.$$

34. x $x + x^2$.

$$x^2 + x = x^2 + 2x \cdot \frac{1}{2} + \frac{1}{4} - \frac{1}{4} = \left(x + \frac{1}{2}\right)^2 - \frac{1}{4} \geq -\frac{1}{4}.$$

$$, \quad x + x^2 \quad -$$

$$-\frac{1}{4} \quad x = -\frac{1}{2}.$$

35.

$$x^2 - 8xy + 19y^2 - 6y + 3$$

$$\begin{aligned} x^2 - 8xy + 19y^2 - 6y + 3 &= x^2 - 8xy + 16y^2 + 3y^2 - 6y + 3 \\ &= (x - 4y)^2 + 3(y - 1)^2 \geq 0. \end{aligned}$$

$$y = 1 \quad x = 4.$$

36.

$$\begin{cases} x + \frac{1}{y} = 2 - (y - z)^2 \\ y + \frac{1}{z} = 2 - (x - y)^2 \\ z + \frac{1}{x} = 2 - (z - x)^2. \end{cases}$$

$$x + y + z + \frac{1}{x} + \frac{1}{y} + \frac{1}{z} = 6 - (y - z)^2 - (x - y)^2 - (z - x)^2.$$

$$a + \frac{1}{a} \geq 2$$

a

6.

6,

6,

$$x = y = z = 1.$$

37.

$$x \quad y$$

$$x^2 + y^2 = 18,$$

$$x + y \leq 6. \quad !$$

$$(x - y)^2 \geq 0 \quad x^2 - 2xy + y^2 \geq 0, \dots$$

$$x^2 + y^2 \geq 2xy.$$

$$(x + y)^2 = x^2 + 2xy + y^2 \leq 2(x^2 + y^2) = 36,$$

$$x + y \leq 6.$$

$$\frac{x+y}{2} \leq \sqrt{\frac{x^2+y^2}{2}} = \sqrt{\frac{18}{2}} = 3, \dots x+y \leq 6.$$

38. x, y, z, t -

$$\left(\frac{x+y+z+t}{4}\right)^4 \geq xyzt. \quad (1)$$

$$(\sqrt{a} - \sqrt{b})^2 \geq 0, \quad a+b-2\sqrt{ab} \geq 0, \dots \frac{a+b}{2} \geq \sqrt{ab}.$$

$$\sqrt{a} = \sqrt{b}, \dots$$

$$a = b.$$

$$a = \frac{x+y}{2}, b = \frac{z+t}{2},$$

$$\frac{\frac{x+y}{2} + \frac{z+t}{2}}{2} \geq \sqrt{\frac{x+y}{2} \cdot \frac{z+t}{2}} \geq \sqrt{\sqrt{xy} \cdot \sqrt{zt}} = \sqrt[4]{xyzt},$$

4 -

$$(1), \quad \frac{x+y}{2} = \frac{z+t}{2}$$

$$x = y, z = t, \dots \quad x = y = z = t.$$

39. a, b, c -

$$\left(\frac{a+b+c}{3}\right)^3 \geq abc. \quad (1)$$

$$\left(\frac{x+y+z+t}{4}\right)^4 \geq xyzt \quad x = a,$$

$$y = b, z = c, t = \frac{a+b+c}{3},$$

$$\left(\frac{a+b+c + \frac{a+b+c}{3}}{4}\right)^4 \geq abc \frac{a+b+c}{3},$$

$$\left(\frac{1}{4} \frac{4(a+b+c)}{3}\right)^4 \geq abc \frac{a+b+c}{3},$$

$$\left(\frac{a+b+c}{3}\right)^4 \geq abc \frac{a+b+c}{3},$$

$$\left(\frac{a+b+c}{3}\right)^3 \geq abc.$$

$$a = b = c = \frac{a+b+c}{3}, \dots$$

$$a = b = c.$$

1. Milošević, D., O brojevnim sredinama za dva pozitivna broja, Matka, 114, 2020/2021
2. Milošević, D., O brojevnim sredinama za dva pozitivna broja, Matka, 114, 2021
3. Milošević, D., O brojevnim sredinama za dva pozitivna broja, Matka, 114, 2023
4. Milošević, D., O brojevnim sredinama za dva pozitivna broja, Matka, 114, 2023 (Milošević, D., O brojevnim sredinama za dva pozitivna broja, Matka, 114, 2023)